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ECN NO.

DATE

DESCRIPTION

2020711705 Initial

Released

C210052

2021701712

/AN

C210686

2021/05/06

/AN

Fmphend] |

Connector

Amphenol |

jousydwyy

Cabe/

Connector

| lovsydury)

ZﬁxNo*e:
*

RoHS Compliant

@ 1Important dimension

Waterproof rate: [PXT,

Connector

Housing: Thermoplastic, Black

Pin: Copper alloy, Gold plated
/ANNut: Metal

Shield: Metal

Outer mold: Thermoplastic, Bl
¥ Cable: UL251T, PVC Jacket, BI
¥ Cable Length Tolerance: 0.5M

mated

oS0

- r =

+60/-0 mm
+120/-0 mm
D 4160/-0 mm
2[00 mm
o 2200 mm
2300 mm
30M 99M: £500 mm

DRAWN BY DATE
Vicky

CHECKED BY DATE
Rita

APPROVED BY DATE

AANANAANAANAND O
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ITEM NO

ACC,

UNIT:mm | € —F

TOLERANCE

SENMMDB*ENDED Amphenol LTW _ 2020-11-05

T L ) i ~ MEASXXML - ASML - SDXXX 2020-11-05
=t =5 PAS— B EBLE]
WCREV A5 (@ lnspection ifem Rﬁnﬁ;uii#ﬁﬁﬁﬁﬁL\ﬂ ALTW 2020-11-05

‘ 8 WI10814-03-R#0 A2
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| 8
4P 0 M&ASO4AML - ASML-SDXXX

3P 4.6 MBASO3IML - ASML-SDXXX

Contacts [tem No.

MBASXXML - ASML - SDXXX

XX: No. Of Pin 0 5~99 Meters

0.5 Meters
Ol Meter
02 Meters

99 Meters

Shield Braid Shield
Braid Shield Black 2

Pin Out

Black %
Blue

-

Brown 12

Wire

Blue
White
Brown

Wire

3P

@@
® @

4P

Pin Assignments Front View

UNTT : mm

MM

TOLERANCE

+0.5mm

},EE}T” ACC, SEN, DB-ENDED

Amphenol LTW

SIZE AA

SHEET

oF

4 2

ITEM NO

DRAWN BY

DATE

2020-11-05

DWG NO

MBASXXML -ASML-SDXXX

CHECKED BY

DATE

2020-11-05

WC-REV A . 5

(QC): Inspection item

ZEERGERAT

CUSTOMER

ALTW

APPROVED BY

DATE

2020-11-05

8 WI10814-03-R#0 A2
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